RzE&3Y 107528 Fpite TRiBR

- NHAM (54X 85A )

1.

©arh - R I~B0 e g P E A B R B RED PRI ARERELEA - ELES]
P ABEY B E T BEBEFEEHEL AL _ (1) B

ttF¢ »ADB & AB: i Lt > ACR X c
% Dgh> % /ABC=90°> AB=4> BC=3- 0
AD=_(2) -

A B

\Y

BLEP o ST 4 - £ ABCD > H 4 A
) % A(0,0) ~ B(4,0) - C(42) ~D(0,2) - 4 F1 % B &% 5 A
Mgl £ A PR AR % Yk 60° > B (S D gk )

BAET G b s F g y=aC Xt C A e 2T H 3 BHE L > L b T
B2BEEE > T E - X Scy=—X"—4x+7 A A e@beo)=_(4) -
ALB? CE~F-G-H 1 J-K LA REHaT AL L K b

=+ 25 ABCD ¢ + »» AE=EF =FB=BG =GH = N I,
HC=Cl=1J=JD=DK =KL =LA » 2} jii¢ 12

B B A PR B A E A SRR S G 8 I

#73_(5) #7 ki o e o C

G
9. &t F¥ > 2= ABCD chif £ 5 120 E g5 AC
v g % EFGH+ £33 CD2 EF* P g - AR 0
AD % EH * Q B fr 7 EPDQ ¢ f# =_(9) - ]

[#2i] 4788 —&F 4 L3

6. ¥ F#cx ity Fli? o 25 0 Fl#k: 1-2-3-4-6-8-9-12-18~24>

P x 22 1008 e ~ o Flied_ (6) -

7. ¢ drasb 3 A28 X —Tx+6=0 5 13> ¢ d 3 A28 XP—Tx+k=0 5 135 F

la—cl=lb—d|=2> £k s | E=_(7) -

8. & XoXoXz - Xaz H— 1 47§75 > F L X1 X0aX5 £ L X4 X1 Xo5 72 & > Fa ehig

= _(8) -

10.+®*® > A FIA-B3 g i AF- M
AURAF»C-DAE Aulp C-DA BT
Flerrr & > @3 > RIS E & 5 /ACB=30° >
/CED=45°> #/«ADB=_(10) A& -

¥ 15 % 2F



Rz£237 1075#R Fitte PRopd [H2g] 3L -&F 0 #E83E
11.%% H* > ADLBC* D 2> BELAC* E 2> AD A 16,4050 2 2 % X [X] % 7 ) 30 & 530 X ehdo % Bl 6]40[1.8]=1 [~3.4]=—4
% BE** H ®» % ZACB=60°» BC =18> AC=12 > e =7t X _ DHexE—_(16) -
$AH=_(11) - x=[x]
B D c
M
B iR RA_CB—*ﬁ“i LAC*“D% ?AD:E‘ A o /¢
$LBleert REE R B E 5 » CD=3+ MD=4>» £BC—=_(7) -
¥ 2 Bt ML R RIS 13 Q B
% 3Wenert MEE R B 24 S
5 25 Feherd M E R Bfr=_(12) -
= ~TERBEREP (X154 )
1. A%E 5 % #E.arﬁ] VY T ITREARR 0 T -}52}: » AW o (54)
(2] 2+HY AZS LR -8 -Bgi
13. %+ ®* > ABCD % % %42 » AD < BC - . ] L#eht > » ¥ ABE LM %3 o .B
AD//BC » AE#3 BC* E® M £.BC#¥ g - [&ie) - B> RFEBRLEBIY &
F £ AM 2 DE 7% 8o £ AEFM #3 4% % 10> AB , L sUipss s AR
=AM > £AABC i f#f =_ (13) - g c "
g . 2. [#4)] &+M* A-B-C Dz BEIaf’ - .
S hv- B A= A £ g1 L L2 fes 200 2 HA K2 %
14.5 dw= 3 & 2 AW Y S EERTRASER 2 qre 200 2 R4 X /BAC=/DAC » AC# BD % * E 2 -
9 X L g = 3% M i: o
16> et 2 & 2 s ff =_(14) [3#2] (1) AABE ~ AACD - 2 4)
(2) ABxCD = ACxBE - B 4)
(3) ABxCD + ADxBC =ACxBD - (5 &)
B
15.%. % B * > ABCDEF £~ & = i#7; » CDGHI £ A d s P
- BT &3  LLAHI— LFAH=_(15) A& -
B E
c D
¥2F % 2F



